N & o & AF & H Al A
20198 & =0llah LB & X
SN oos
B #HSARY(AUS)
thel: I (HetE) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Hots 315,102 295,531 19,571
HYR2IZH (HetS) 106,103 97,427 8,676
ol 2Yy(HetsE) 33,886 32,941 945
ol 2yl (dots) 33,886 32,941 945
101 @14 dl 33,886 32,941 945
01 2= 33,886 32,941 945
OAZA22Y 33,886
— 6= 11,4013« 1H «35A| 2t« 128 4,789
-2 10,2993 x3H «35A| 2t 128 12,977
— 8= 9,246 «3H «35A1 2t 123 11,650
- 9= 8,357 1P «35A1 2t 123 3,510
—HRMHE= 31,978,800 *3% 960
Jl2dd(dets) 72,217 64,486 7,731
Jl2dHl(Hers) 72,217 64,486 7,731
201 Let24d] 53,872 45,061 8,811
01 At 22l 26,444 19,636 6,808
OFN2ILE==EHI 11,010,000& *95% 10,460
OI2ARLHS20HA Y|
8,000 «8H 62| «12& 4,608
O A 30,000& 10 300
o2& HM& & XNzl 1,500, 000& 1,500
OSg&gLSI EH 2L
250,000 *2CH 43 2,000
Ost&E A o gxtz 24,900 40 128 1,196
OssE2&1 gtz 440,000 123 5,280
OXlstE M&Jl gX= 275,000& *43| 1,100
02 232gl 27,428 25,425 2,003
Oz22= & HMA 15,936
—SERS 400,000 x12& 4,800
—dIIReR=a 700,000& 123 8,400
- =523 100,000& »12& 1,200
—AOETV =8l & 18,000& 122 216
— QAEA HESEH 228l 110,000 <122 1,320
OAIE ZHI S X 7,492
—EMAE SAE+ 3,000,000& 3,000
— 20IHYAIAY 8HH 169,000 *128 2,028
—sgzgwll sNEs
66,000 20 122 1,584
—AHANE HE=2 330,000& x23| 660
—&JjotE e FEaa2 110,000& 23] 220
O Xt& & Byl 4,000




SN et
S

P =T S| [(ots)
Sl =AY (AXS) (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— 22X A4l 2,000,000 «2LH 4,000
202 04d| 9,720 10,800 A 1,080
01 2L HI 9,720 10,800 A 1,080
OJI2gRsH= &N 90,000& x9H ~12& 9,720
203 R F & 8,625 8,625 0]
01 JI22HEYFFEAH| 6,270 6,270 0
OJ|&22g9gL2=8| 6,600,000 *95% 6,270
02 I YR2FAH| 360 360 0
OXFINZ2 40,000 9H 360
04 FEASHEYRFAH| 1,995 1,995 0
OS2I ELE2F=8H| 175,000 122 x95% 1,995
HAotE AP AHHI 208,999 198, 104 10,895
ZFO0IMEST A 107,558 95,448 12,110
FOXXAEH 2E 86,040 80,040 6,000
201 gBt24d| 38,160 32,160 6,000
01 AR 22| H| 32,560 26,560 6,000
OF0XXHAEH 29 HAHI 300,000& x12& 3,600
O XXPAZ 3o ZEAHC
50,000& x28H x12& 16,800
OM=sSAE Xz 12,160,000& 12,160
02 E222%H| 5,600 5,600 0
OZ2222 ¥ HA 3,600
—MIR22 300,000& x12& 3,600
OA&ZH KXYl 2,000
— FOXXHE ANE SXNES 2,000,000 2,000
301 et A= 47,880 47,880 0
12 JIEtE2 A= 47,880 47,880 0
OF0XXAE HA=SE
30,000 12 x93| x12& 38,880
OXE S AR AlHI B A
10,000 *3% x252 x 12 9,000
S&H FHol 4,200 1,200 3,000
201 gEt24Hy| 1,200 1,200 0
01 AP 2t 2] d| 1,200 1,200 0
OgBtf=2H| 1,200
—SAZHES 7Y 100,000& ~12& 1,200
401 AlEHI L 2 0HY| 3,000 0 3,000
01 Al&H| 3,000 0 3,000
OYAHA KXol SEHOIHX I 2 A
3,000,000& 3,000
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